3 NH,OH + Hs;PO, => (NH.):PO, + 3 H:O

2 AIOH) 3 + 3 H:S0, => Alx(SO)s + 6 HyO

2 H.PO, + 3 Ca(OH), => Cas(POy). + 6 H,O

Caz(POy): +3 Si0z +5 C =>3 CaSiOz+5 CO+2 P

4 FeS; + 11 Oz => 2 FezO3 + 8 SO»

Name: Date: Per:
Balancing Equations Answers

1. 2H,+ O, => 2 H,0 26. 3 Li+ AICl; => 3 LiCl + Al
2. H;PO, + 3 KOH => K;PO, + 3 H.O 27. 2CusHg+ 7 Oz =>4 CO, + 6 H.O
3. 6 K+ B:O;=>3K,0O+ 2B 28.
4. HC1 + NaOH => NaCl + HxO 29. 3 Rb + P => RbsP
5. 10 Na + 2 NaNO; => 6 Na,O + N, 30. CHy + 2 0, => CO, + 2 H,0
6. 4C+ S5=>4CS5; 31.
7. 2 Na + Oz => Naz0s 32. 2 Na + Clz => 2 NaCl
8. 2 Ny + 5O, =>2 N,Ojy 33. 16 Rb + Sz => 8 Rb.,S
9. 2 Hz;PO, + 3 Mg(OH), => Mgi(POy. + 6 H2O 34.
10. 2 NaOH + H:CO3; => Na;COz + 2 H:O 35. NHz; + HCI => NH,Cl1
11. KOH + HBr => KBr + Hz0 36. 2 Li+ 2 H,O=>2 LiOH + H.
12. H. + 0, => H.,O, 37.
13. 4 Na + 05 => 2 NasO 38. 4 NH; + 3 0, =>2 N, + 6 H,O
14. 2 ANOH)3 + 3 HeCOz => Al(COz)s + 6 H20 39.
15. 16 Al + 3 Sz => 8 Al.S, 40. 5 C+ 2 S0, => CS,+ 4 CO
16. 6 Cs + Nz => 2 Cs3N 41. Fe+S --> FeS
17. Mg + Cls => MgCl, 42. 2KClO; --> 2KCl + 30,
18. 10 Rb + 2 RbNOs => 6 RbyO + Ny 5 MALTE0. == Skt
19. 2 CoHy + 16 Oy => 12 CO, + 6 H,0 44, FexO3 + 3C --> 3CO+2Fe

45. KO + H,O -> 2KOH
20. Nz + 3 Hz => 2 NHy 46. K,CO; + BaCl, > 2 KCl + BaCO;
21. 2 CipHuee + 31 Os => 20 CO. + 22 H.O 47. Mg(OH), + H,SO, —> MgSO, + 2 H,O
22. Al(OH); + 3 HBr => AlBr; + 3 H,0 48. 2 KF + BaBr; -—> BaF: + 2 KBr
23. 2 CH3CHzCH:CHsz + 13 Oz => 8 CO2+ 10 H:O 49. HCl + NH; --> NH,CI
24, C+ Oy => COu 50. Bix(SO.); + 6 NH,OH -—> 2 Bi(OH); +

25.C3Ha + 5 0O, => 3 COz + 4 H.O

3 (NH4)>50,



